AI5® HM1307C ELECTRIC BREAKER

171

BR



#1%% HM1307C ELECTRIC BREAKER R 1/3
ARE R BHER e T £ | No = ®iE2 B!
001 266512-5 B EIEREM10X142 1
002 163506-0 E=] 1
003 451331-4 FAEEE 1
004 451331-4 FIHEE 1
005 252654-1 R ARE M10 1
006 253194-2 F#+t5 1
007 922221-3 AR M5X16 1
012 324099-4 TAE 1
013 331866-0 THE 1
014 266011-7 RN IR MBX35 6
015 233300-7 EE6 1
016 324135-6 =g 1
017 213720-9 OME 67 1
018 262150-1 B 1
019 267401-7 SEHE 24 1
020 257782-7 EE 43 1
021 213569-7 OE 45 1
022 213192-8 X [ 36 1
023 213150-4 O 36 1
024 325682-0 TR 1
025 325683-8 [ 30 1
026 424206-0 %2 E 36 1
027 325684-6 M 32 1
028 318458-2 e 1
029 325685-4 Ed 1
030 213193-6 OME 42 1
032 331870-9 SR 52 1
035 265367-5 244 M8X40 4
042 213569-7 OM 45 1
043 213569-7 OE 45 1
044 256238-7 #12 1
045 213193-6 OME 42 1
046 318459-0 TEE 1
047 213569-7 OM 45 1
048 451164-7 e 1 *
048-1 451164-7 i S 1
050 213806-9 O 90 1
051 318462-1 HIRE 1
052 266499-1 #2244 M6X30 6
053 227709-1 WZTE R 47 1
054 211306-3 HEH 6204LLB 1
056 267166-1 fEREE 14 1
057 226156-3 AR 31-43 1
058 212159-3 SRR 1412 1
059 262157-7 fERERE 14 1
060 212159-3 STEIEM 1412 1
061 267166-1 fERERE 14 1
062 424207-8 TR 1
el B—ESM - SIENE#A 2017/10/20



#1%F HM1307C ELECTRIC BREAKER BHR 2/3
A RE R EHRT E foad N/O B BiE2 !

063 140060-1 ERBERBM

064 211373-8 K 6205 LLU

065 331871-7 PR EHEE O *
065-1 331871-7 HhEhEs O S
069 213809-3 O 87

071 451170-2 B 2

077 443127-7 BENE

078 213758-4 OME 74

079 451166-3 it B

081 451171-0 REAR COVER

082 266499-1 #2244 M6X30

083 331855-5 T IR

084 211249-9 K 6302LLU

085 267397-2 FHE15

086 240003-4 % 80

087 517785-6 HiEL 100-115V

D10 INC. 84-86,88,89

088 681642-5 BEEE

089 210059-1 FTREMA 6000DDW
090 451107-9 SEHE

091 267809-5 BWERF 19

092 451111-8 FER

093 266044-2 #2244 5X60

094 636331-7 SV 4RE 115V

095 451117-6 BERE

096-1 632D00-2 R4

097-1 195844-2 B CB-175

098 265995-6 BUFiR44 4X18
099-1 158986-3 PEHIERE

100 263027-3 B 4

101 651423-1 BRI

102 265995-6 BUF R4k 4X18

103 687678-2 BE kR

104 265995-6 BUF R4k 4X18

105 693574-4 BIR#AR 2.0-2-5.0
106 682561-8 BIRIREE

107-2 620227-2 PEag

108-1 266834-3 1244 M4X18

109 232209-8 R &

110 451112-6 BENR

1M 263027-3 BRI 4

112 451105-3 E

13 451118-4 m|F

114 265995-6 BUFiR44 4X18

115 451106-1 FRAIR

116 265995-6 LUF U844 4X18

17 266499-1 1244 M6X30

118 867304-1 HM1307C NAME PLATE

s

AR A

THE—EZHF -

5IENH #A 2017/10/20



#igF HM1307C ELECTRIC BREAKER HX 3/3
A ERES THER E X | HE | NO E#i21 #ig2 B!
19 451119-2 LFE 1
120 265995-6 UF R4k 4X18 2
A01-1 D-15285 RHETE 400 1
A02 824898-9 PRI 1
C10 162271-8 R 2
A03 809556-8 HM1307C PLASTIC CASE LABEL 2

AT A -

FIEDHEA 2017/10/20



